
8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

A A

B

C C

D D

E E

F F

G G

H H

CREO{PARAMETRIC}FORMAT: 8507468 
REV: 0

.875

.4375

.319

1.41

1.827

1.85

1.89

.565

.875

.310

TRIPOD ADAPTER
MOUNTING SURFACE .934.460

.319

.970

1.940

1.160

1.970

.319

.565

MODULE MOUNTING
SURFACE

.875

.41

1.73

.486
IMAGE PLANE

.236

HARD LENS STOP

.115

GERMANIUM WINDOW
FRONT SURFACE

WINDOW THICKNESS
.040 .002

3X .130

.035REAR SURFACE
0.016 THK SHUTTER BLADE

GERMANIUM WINDOW
FRONT SURFACE

.091
INSIDE SURFACE

LENS MOUNT

.4375

.875

1.150

.4375

.875

.319

1.164

( ).446

( ).302

( ).389 ( ).246

CAMERA CONFIGURATION TABLE

8507468 SHT 1
SHORT BWD LENS VERSION WITH TCP (THERMALLY 
CONDUCTIVE PLASTIC) HOUSING (FOR BWD 5.5mm TO 
7.5mm)

8507468 SHT 2
LONG BWD LENS VERSION WITH TCP HOUSING (FOR 
BWD 6.0mm TO 10.6mm)

8507468 SHT 3
BOTH SHORT & LONG BWD SIMPLE LENS VERSIONS 
WITH TCP HOUSING

APVD

APVD

20160707M.LLOYDAPVD

20160707J.HENEBURYAPVD

20160707R.SKILLINGSENG

--CHECKED

20160630J.SHOWNDRAWN

YYYYMMDDBY OR APPROVED

CONTRACT NO NA

THIRD ANGLE PROJECTION

NANANA

ANGLES3 PLACE2 PLACE

TOLERANCES ON DIMENSIONS
ASME Y14.5M-1994 APPLIES

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES.
DIMENSIONS APPLY AFTER

FINISH

APPLICATION

USED ONNEXT ASSY

COMMERCIALGEN

REVISION HISTORY

APPROVEDDATEDESCRIPTIONREV

JS/RS/JH20160707RELEASE TO ECO CONTROL-

8
5
0
7
4
6
8

1
D
W
G
 
N
O

S
H

ALL SHEETS SAME REVISIONECO CONTROL

EDIT MATERIAL AND
FINISH NOTES HERE.

    TO EDIT THE MATERIAL AND FINISH NOTES, USE EDIT > VALUE
    THEN CLICK ON THE LINE BELOW THE WORD MATERIAL OR FINISH.
    DO NOT INCLUDE THE WORDS MATERIAL OR FINISH IN THE ACTUAL NOTE.
    YOU CAN ALSO USE THIS TEXT FOR ALIGNMENT/PREVIEW PURPOSES.
    USE THE NUMBER LINE BELOW TO HELP ASSIST IN ADDING SPACES
    BEFORE THE ACTUAL TEXT IN THE NOTES.
1234567890 
2.  MATERIAL: (edit the line below to change MATERIAL note) 
 
      SEE APPROPRIATE PART(S).
 
3.  FINISH: (edit the line below to change FINISH note) 
 
      SEE APPROPRIATE PART(S).
 
    DO NOT DELETE THIS TABLE.

 
NOTES:
 
 1.  DRAWING CONFORMS TO ASME Y14.100.
 
 2.  THIS DOCUMENT DEPICTS THE INTERFACES FOR THE TWV640 12uM MICROIR PRODUCTS.
 
 3.  THIS DRAWING IS NOT TO BE USED FOR FABRICATION OR INSPECTION.
     DIMENSIONS SHOWN ARE FOR REFERENCE ONLY.
 
 4.  DATUM PLANES -E-  AND -F-  ARE DEFINED AS THE PERPENDICULAR PLANES
     WHICH ARE THE CENTERLINES OF THE ACTIVE PIXEL AREA, AS DEFINED BY THE
     ROIC FIDUCIAL MARKS.
 
 5.  PHYSICAL CHARACTERISTICS:
 
          SPATIAL VOLUME = 7.07 in3
 
              MASS (EST) = 125g

SHEET 1 OF 3PROINTRALINK: -.4SCALE: 3/1

850746881395E
DWG NOCAGE CODESIZE

CAMERA MODULE,
12UM COMMERCIAL

TITLE

BAE SYSTEMS
INFORMATION AND ELECTRONIC
SYSTEMS INTEGRATION, INC.

+  NO

DISTRIBUTION A - PUBLIC RELEASE UNLIMITED
 

THIS DOCUMENT DESCRIBES COMMODITIES, TECHNOLOGY OR SOFTWARE
WHOSE EXPORT FROM THE UNITED STATES MUST BE IN ACCORDANCE
WITH EXPORT ADMINISTRATION REGULATIONS (EAR). DIVERSION

CONTRARY TO U.S. LAW IS PROHIBITED.
 

 DISCLAIMER AND COPYRIGHT
 

THIS DOCUMENT GIVES ONLY A GENERAL DESCRIPTION OF THE PRODUCT(S)
AND SERVICE(S) AND, EXCEPT WHERE EXPRESSLY PROVIDED OTHERWISE,

SHALL NOT FORM ANY PART OF ANY CONTRACT.
FROM TIME TO TIME, CHANGES MAY BE MADE IN THE PRODUCTS OR THE

CONDITIONS OF SUPPLY.
 

BAE SYSTEMS IS A REGISTERED TRADEMARK OF BAE Systems plc.
2016 BAE SYSTEMS, ALL RIGHTS RESERVED

MICROIR CAMERA MODULE (SHORT BWD) SHOWN WITH
- TCP (THERMALLY CONDUCTIVE PLASTIC) HOUSING COMPONENTS
- NO LENS; SEE BAE ENGINEERING FOR LIST OF COMPATIBLE LENSES
- EVALUATION I/O PBA
- TRIPOD KIT ACCESSORY SHOWN

MODULE
MOUNTING SURFACE

MODULE
MOUNTING
SURFACE

M34 X 0.5 ISO-6H
LENS THREAD

B�|�A�|�C
MINOR DIA

2X M2 x 0.4 ISO-6H

A�|�B�|�C
MINOR DIA

MODULE
MOUNTING SURFACE

2X M2 x 0.4 ISO-6H

D�|�B�|�A
MINOR DIA

TRIPOD ADAPTER
ACCESSORY PN 8500482-1

MODULE
MOUNTING SURFACE

ACTIVE PIXEL AREA

2X M2 x 0.4 ISO-6H

A�|�B�|�C
MINOR DIA

SEE DETAIL  A

ACTIVE AREA
DETAIL  A
SCALE  8/1

MIN FRONT WINDOW
CLEAR APERTURE

E

F

MICRO B USB
HIROSE 5 POS RECEPTACLE - MALE

PN : ZX80-B-5P
CAGE CODE : 0AG18

POS 1

POS 1

POS 1

POS 1

LVDS INTERFACE
MOLEX 3 POS 1,25MM PITCH VERT HEADER

PN : 53047-0310
CAGE CODE : 1UX99

UART INTERFACE
MOLEX 4 POS 1,25MM PITCH VERT HEADER

PN : 53047-0410
CAGE CODE : 1UX99

POWER PORT
MOLEX 2 POS 1,25MM PITCH VERT HEADER

PN : 53047-0210
CAGE CODE : 1UX99

ANALOG VIDEO OUT
CINCH CONNECTIVITY MCX CONNECTOR,

SOLDER, BOARD MOUNT,FEMALE RECEPTACLE
PN : 133-8701-211
CAGE CODE : 4HFW6

2X M2 x 0.4 ISO-6H
 �x�.15

C�|�B�|�A
MINOR DIA

MODULE
MOUNTING SURFACE

MODULE MOUNTING
SURFACE

2X M2 x 0.4 ISO-6H

A�|�B�|�C
MINOR DIA

TRIPOD ADAPTER
MOUNTING SURFACE

(0.26 sq in)

3X .086-56 UNC
SET SCREW NYLON TIP

FOR LENS LOCKING

SECTION  A-A

CAUTION
SENSITIVE ELECTRONIC DEVICES

INTERFACE DRAWING

A

C D

E

F

B

C
D

E

A

B

F

A

C
D

A

B

F

B

C D

E

A

B

F



8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

A A

B

C C

D D

E E

F F

G G

H H

.417

1.925

1.512

.417 .417

1.95

1.98

1.262

.417

.584 IMAGE PLANE

.236
HARD LENS STOP

WINDOW THICKNESS
.040 .002

.115
GERMANIUM WINDOW

FRONT SURFACE

.035

GERMANIUM WINDOW
FRONT SURFACE

REAR SURFACE
0.016 THK SHUTTER BLADE

.091
INSIDE SURFACE

LENS MOUNT

3X .130

CONNECTOR IDENTIFICATION
SEE SHEET 1

ACTIVE AREA
SEE SHEET 1

FOR DIMENSIONS NOT SHOWN
SEE SHEET 1

8
5
0
7
4
6
8

2
D
W
G
 
N
O

S
H

SHEET 2SCALE: 3/1

-850746881395E
REVDWG NOCAGE CODESIZE

DISTRIBUTION A - PUBLIC RELEASE UNLIMITED
 

THIS DOCUMENT DESCRIBES COMMODITIES, TECHNOLOGY OR SOFTWARE
WHOSE EXPORT FROM THE UNITED STATES MUST BE IN ACCORDANCE
WITH EXPORT ADMINISTRATION REGULATIONS (EAR). DIVERSION

CONTRARY TO U.S. LAW IS PROHIBITED.
 

 DISCLAIMER AND COPYRIGHT
 

THIS DOCUMENT GIVES ONLY A GENERAL DESCRIPTION OF THE PRODUCT(S)
AND SERVICE(S) AND, EXCEPT WHERE EXPRESSLY PROVIDED OTHERWISE,

SHALL NOT FORM ANY PART OF ANY CONTRACT.
FROM TIME TO TIME, CHANGES MAY BE MADE IN THE PRODUCTS OR THE

CONDITIONS OF SUPPLY.
 

BAE SYSTEMS IS A REGISTERED TRADEMARK OF BAE Systems plc.
2016 BAE SYSTEMS, ALL RIGHTS RESERVED

MICROIR CAMERA MODULE (LONG BWD) SHOWN WITH
- TCP (THERMALLY CONDUCTIVE PLASTIC) HOUSING COMPONENTS
- NO LENS; SEE BAE ENGINEERING FOR LIST OF COMPATIBLE LENSES
- EVALUATION I/O PBA
- TRIPOD KIT ACCESSORY SHOWN

MODULE
MOUNTING SURFACE

MODULE
MOUNTING
SURFACE

MODULE
MOUNTING SURFACE

MODULE
MOUNTING SURFACE

MODULE
MOUNTING SURFACE

MODULE MOUNTING
SURFACE

MODULE MOUNTING
SURFACE

TRIPOD ADAPTER
MOUNTING SURFACE

(0.26 sq in)

3X .086-56 UNC
SET SCREW NYLON TIP

FOR LENS LOCKING

SECTION  A-A

A

C D

E

F

B

C DE

A

B

F

A

B

F

B

C DE

A

B

F



8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

A A

B

C C

D D

E E

F F

G G

H H

8
5
0
7
4
6
8

3
D
W
G
 
N
O

S
H

SHEET 3SCALE: 3/1

-850746881395E
REVDWG NOCAGE CODESIZE

DISTRIBUTION A - PUBLIC RELEASE UNLIMITED
 

THIS DOCUMENT DESCRIBES COMMODITIES, TECHNOLOGY OR SOFTWARE
WHOSE EXPORT FROM THE UNITED STATES MUST BE IN ACCORDANCE
WITH EXPORT ADMINISTRATION REGULATIONS (EAR). DIVERSION

CONTRARY TO U.S. LAW IS PROHIBITED.
 

 DISCLAIMER AND COPYRIGHT
 

THIS DOCUMENT GIVES ONLY A GENERAL DESCRIPTION OF THE PRODUCT(S)
AND SERVICE(S) AND, EXCEPT WHERE EXPRESSLY PROVIDED OTHERWISE,

SHALL NOT FORM ANY PART OF ANY CONTRACT.
FROM TIME TO TIME, CHANGES MAY BE MADE IN THE PRODUCTS OR THE

CONDITIONS OF SUPPLY.
 

BAE SYSTEMS IS A REGISTERED TRADEMARK OF BAE Systems plc.
2016 BAE SYSTEMS, ALL RIGHTS RESERVED

FOR DIMENSIONS NOT SHOWN
SEE SHEET 1

MICROIR CAMERA MODULE (LONG BWD) SHOWN WITH
- TCP (THERMALLY CONDUCTIVE PLASTIC) HOUSING COMPONENTS
- SIMPLE LENS MOUNT; NO SIDE MOUNTING FEATURES AVAILABLE
- NO LENS; SEE BAE ENGINEERING FOR LIST OF COMPATIBLE LENSES
- EVALUATION I/O PBA
- TRIPOD KIT ACCESSORY SHOWN

MICROIR CAMERA MODULE (SHORT BWD) SHOWN WITH
- TCP (THERMALLY CONDUCTIVE PLASTIC) HOUSING COMPONENTS
- SIMPLE LENS MOUNT; NO SIDE MOUNTING FEATURES AVAILABLE
- NO LENS; SEE BAE ENGINEERING FOR LIST OF COMPATIBLE LENSES
- EVALUATION I/O PBA
- TRIPOD KIT ACCESSORY SHOWN


	Sheet 1
	Views
	new_view_14
	new_view_15
	new_view_18
	top_19
	right_20
	right_37
	left_38
	bottom_39
	new_view_45
	new_view_56
	left_57
	new_view_58
	left_59

	Zones
	H8
	H7
	H6
	H5
	H4
	H3
	H2
	H1
	G8
	G7
	G6
	G5
	G4
	G3
	G2
	G1
	F8
	F7
	F6
	F5
	F4
	F3
	F2
	F1
	E8
	E7
	E6
	E5
	E4
	E3
	E2
	E1
	D8
	D7
	D6
	D5
	D4
	D3
	D2
	D1
	C8
	C7
	C6
	C5
	C4
	C3
	C2
	C1
	B8
	B7
	B6
	B5
	B4
	B3
	B2
	B1
	A8
	A7
	A6
	A5
	A4
	A3
	A2
	A1


	Sheet 2
	Views
	new_view_16
	new_view_17
	new_view_21
	top_33
	left_34
	right_40
	bottom_41
	new_view_50

	Zones
	H8
	H7
	H6
	H5
	H4
	H3
	H2
	H1
	G8
	G7
	G6
	G5
	G4
	G3
	G2
	G1
	F8
	F7
	F6
	F5
	F4
	F3
	F2
	F1
	E8
	E7
	E6
	E5
	E4
	E3
	E2
	E1
	D8
	D7
	D6
	D5
	D4
	D3
	D2
	D1
	C8
	C7
	C6
	C5
	C4
	C3
	C2
	C1
	B8
	B7
	B6
	B5
	B4
	B3
	B2
	B1
	A8
	A7
	A6
	A5
	A4
	A3
	A2
	A1


	Sheet 3
	Views
	new_view_43
	new_view_44
	new_view_47
	right_48
	top_49
	new_view_51
	new_view_52
	new_view_53
	right_54
	top_55

	Zones
	H8
	H7
	H6
	H5
	H4
	H3
	H2
	H1
	G8
	G7
	G6
	G5
	G4
	G3
	G2
	G1
	F8
	F7
	F6
	F5
	F4
	F3
	F2
	F1
	E8
	E7
	E6
	E5
	E4
	E3
	E2
	E1
	D8
	D7
	D6
	D5
	D4
	D3
	D2
	D1
	C8
	C7
	C6
	C5
	C4
	C3
	C2
	C1
	B8
	B7
	B6
	B5
	B4
	B3
	B2
	B1
	A8
	A7
	A6
	A5
	A4
	A3
	A2
	A1



